

Amir Ali

$$\begin{aligned} S &= \alpha + \beta \xrightarrow{\beta = 1/\alpha} \epsilon \alpha = \frac{a}{\epsilon} \Rightarrow a = \epsilon \alpha \\ P &= \alpha \beta \xrightarrow{\beta = 1/\alpha} \frac{a}{\epsilon} = \frac{a}{\epsilon} \Rightarrow \alpha = \pm \frac{1}{\epsilon} \end{aligned} \quad \left. \begin{aligned} a &= \pm 1 \\ |1 - (-1)| &= 2 \end{aligned} \right\}$$

$$\frac{1}{\sqrt{a}} + \frac{1}{\sqrt{b}} = \frac{\sqrt{a} + \sqrt{b}}{\sqrt{ab}} = \frac{(\sqrt{a} + \sqrt{b})^2}{\sqrt{ab}} = \sqrt{\frac{a + b + 2\sqrt{ab}}{ab}} = \sqrt{\frac{5 + 2\sqrt{p}}{p}} \xrightarrow{\substack{S, m, k \\ P, L, q}} \frac{m+k}{P}$$

$$\sqrt{\frac{\frac{m+k}{P} + \frac{q}{P}}{\frac{1}{P}}} = \sqrt{\frac{m+k}{1}} = \Delta \Rightarrow m+k = \Delta \Rightarrow m=9 \quad \left. \begin{aligned} 4x^2 + 4x + 1 &= 0 \\ m^2 + 4m + 4 &= 0 \end{aligned} \right\} \quad \begin{aligned} P &= \frac{c}{a} = \frac{1}{9} \end{aligned}$$

$$\text{Case: } \alpha > \beta \Rightarrow (\alpha + \beta)^2 - (\alpha - \beta)^2 = 4\alpha\beta \Rightarrow 1 - (\alpha - \beta)^2 = 1 \Rightarrow (\alpha - \beta)^2 = 0$$

$$\Rightarrow |\alpha - \beta| = 0 \xrightarrow{\alpha > \beta} \alpha - \beta = 0$$

$$\begin{aligned} \rightarrow \left. \begin{aligned} \alpha + \beta &= 1 \\ \alpha - \beta &= 0 \end{aligned} \right\} & \begin{aligned} 4\alpha &= 1 \Rightarrow \alpha = \frac{1}{4} \Rightarrow \beta = \frac{1}{4} \end{aligned} \quad \xrightarrow{\beta = 1} \begin{aligned} -\epsilon + 1 + 9 - 1 &= 0 \\ \Rightarrow 1 &= -\epsilon \end{aligned} \end{aligned}$$

$$\begin{aligned} \epsilon \alpha^2 + 2\alpha\beta + \beta^2 &= (\epsilon \alpha^2 + 2\alpha\beta + \beta^2) + (0\alpha^2 - 0\alpha\beta + \beta^2) = \epsilon \alpha^2 + 2\alpha\beta + \beta^2 + 0\alpha^2 + 0\alpha\beta + \beta^2 \\ &= \epsilon \alpha^2 + 2\alpha\beta + \beta^2 + 0\alpha^2 + 0\alpha\beta + \beta^2 = \epsilon \alpha^2 + 2\alpha\beta + \beta^2 + 0\alpha^2 + 0\alpha\beta + \beta^2 \\ &= 40 - 2a + 9\sqrt{4-a} = 10 + 12\sqrt{2} \Rightarrow \begin{aligned} 40 - 2a &= 10 \Rightarrow a = 15 \\ 9\sqrt{4-a} &= 12\sqrt{2} \Rightarrow a = 1 \end{aligned} \end{aligned}$$

$$S = 0 \rightarrow \text{Case: } \alpha = \beta \quad \begin{aligned} 2P^2 - 15P + 15 &= 2P^2 \end{aligned}$$

$$2^2 - \sqrt{2^2 - 1} = 0 \Rightarrow 2^2 = \frac{1 + \sqrt{49}}{2} \Rightarrow 2^2 = \frac{1 + \sqrt{49}}{2}$$

$$\begin{aligned} \Rightarrow \left. \begin{aligned} \alpha &= \frac{1 + \sqrt{49}}{2} \\ \beta &= \frac{1 - \sqrt{49}}{2} \end{aligned} \right\} & \begin{aligned} \alpha^2 &= \beta^2 = \frac{1 + \sqrt{49}}{2} \\ 2P^2 &= 2(\alpha^2 \beta^2) = \left(\frac{1 + \sqrt{49}}{2}\right)^2 \cdot 2 = \frac{11 + 11\sqrt{49}}{2} \end{aligned} \end{aligned}$$

$$= 29 + 11\sqrt{49}$$

$$\begin{aligned}
 & \gamma a z^2 + a z - \gamma z = 0 \quad S_1 z = -\frac{1}{\gamma} \\
 & P_1 z = -\frac{\gamma}{a} \Rightarrow P_1 = -\gamma \\
 & \gamma z^2 - a z - b = 0 \\
 & S_1 z = \frac{a}{\gamma} \\
 & P_1 z = -\frac{b}{\gamma}
 \end{aligned}$$

(9)

$$S_1 z = \alpha + 0/d + \beta + 0/d = \underbrace{(\alpha + \beta)}_{S_1} + 1 \Rightarrow S_1 + 1 = -\frac{1}{\gamma} + 1 \Rightarrow \frac{1}{\gamma} = \frac{a}{\gamma} \Rightarrow \boxed{a = 1}$$

$$P_1 z = (\alpha + 0/d)(\beta + 0/d) = \underbrace{\alpha\beta}_{P_1} + 0/d(\alpha + \beta) + 0 \times 0 = -\gamma + (-\frac{1}{\gamma}) + \frac{1}{\gamma} = -\gamma = -\frac{b}{\gamma}$$

$$\Rightarrow \boxed{b = -9}$$

$$\Rightarrow \left[\frac{ab}{\epsilon} \right] = \left[\frac{-9}{\gamma} \right] = 1$$

$$\begin{aligned}
 & a z^2 - a z + b = 0 \xrightarrow{a=1} \gamma a z^2 - \gamma a z - b = 0 \xrightarrow{\gamma=1} \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0 \\
 & \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0
 \end{aligned}$$

$$\xrightarrow{\gamma=1} \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0 \Rightarrow \gamma a z^2 - \gamma a z - b = 0$$

$$S = \alpha + \beta = -\frac{\gamma a}{\gamma a} = -1$$

$$\Rightarrow \gamma a + \gamma b = 1 \Rightarrow b = -1$$

$$\Rightarrow |\alpha - \beta| = \sqrt{\frac{\Delta}{|a|}} = \sqrt{\frac{(\gamma a)^2 - 4\gamma a(-b)}{\gamma a}} = \sqrt{\frac{\gamma^2 a^2 + 4\gamma a b}{\gamma a}} = \frac{1}{\gamma a} \sqrt{\gamma^2 a^2 + 4\gamma a b} = \frac{\sqrt{\gamma^2 a^2 + 4\gamma a b}}{\gamma a}$$

$$z^2 - (a+1)z + a = 0 \Rightarrow z_1 = 1 \quad \begin{matrix} \gamma_1, \gamma_2 \\ \gamma_1 \gamma_2 = a \end{matrix} \Rightarrow z_2 = \gamma \Rightarrow a z^2 \Rightarrow P_2 a z^2$$

$$z^2 - (\gamma a + 1)z + b = 0 \Rightarrow z^2 - 10z + b = 0 \Rightarrow (z - \alpha)(z - \beta) = 0 \Rightarrow z^2 - (\alpha + \beta)z + \alpha\beta = 0$$

$$\begin{aligned}
 & \Rightarrow \alpha + \beta = 10 \quad \begin{matrix} \text{Stärke } \gamma_1, \gamma_2 \\ \gamma_1 \gamma_2 = a \end{matrix} \xrightarrow{\gamma_1 \gamma_2 = a} \gamma_1 \gamma_2 = 10 \Rightarrow \alpha = 5, \beta = 5 \Rightarrow b = 5 \times 5 = 25 \\
 & \alpha\beta = b \quad \gamma_1 \gamma_2 = a \quad \Rightarrow b = 25
 \end{aligned}$$

$$\Rightarrow P_2 - P_1 = 25 - 1 = 24$$

$$\Delta \geq 0 \Rightarrow b^2 - 4ac \geq 0 \Rightarrow 144 + m^2 \geq 0 \Rightarrow m^2 + 144 \geq 0 \quad \text{Stärke } \gamma_1, \gamma_2$$

99

$$\alpha^2 + \beta^2 = S^2 - 2P = 1 + 2m^2 \geq 2m^2 \quad \begin{matrix} \gamma_1, \gamma_2 \\ \gamma_1 \gamma_2 = a \end{matrix} \xrightarrow{\gamma_1 \gamma_2 = a} \min(\alpha^2 + \beta^2) \geq 0 + 2 \geq 2$$

- 10

$$\begin{aligned} & \begin{cases} A(x, y) \\ B(-x, y) \end{cases} \begin{cases} \text{مساوی است} \\ \text{برای } x \end{cases} \Rightarrow x_5 = \frac{x_A + x_B}{2} = \frac{y - \Delta}{2} - 1 \quad \left\{ \begin{array}{l} \text{ext}(-1, 1) \\ y_5 = +1 \end{array} \right. \end{aligned}$$

$$\Rightarrow y = a(x+1)^2 + 1 \Rightarrow y = ax^2 + 2ax + a + 1$$

$$x^2 + \beta^2 = 5^2 - 4p = 25 - 2\left(\frac{a+1}{a}\right) = 2 \Rightarrow 2\left(\frac{a+1}{a}\right)^2 - 1 = 2 \Rightarrow 2a + 2 = -a \Rightarrow a = -\frac{4}{3}$$

$$y = -\frac{4}{3}x^2 - \frac{8}{3}x + \frac{1}{3} \xrightarrow{x=0} y = \frac{1}{3}$$